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02 3524l 120,000 ,000 30,000
OsHE 3=sE2Y 29|
20,000,000 6 ™ 120,000
& 36,000
= 84,000
HNEE LAY 20,560 0 20,560
T 6,168
= 14,392
307 212t01 & 20,560 0 20,560
T 6,168
= 14,392
11 AMISAAEE X 20,560 0 20,560
ONYs AXelAIY (8H) 20,560,000 20,560
= 6,168
= 14,392
d2g 3SHYE X 8,000 0 8,000
= 2,400
= 5,600
307 212t01 & 8,000 0 8,000
T 2,400
= 5,600
11 A SAAEE X 8,000 0 8,000
OZ2Y s2s&YE N 8,000,000 8,000
< 2,400
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i
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L
—

IS XIAIE XA
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633,253
2,071,141
4,574,224

6,507,689

770,929

Mo A

1,581,840
200,742
297,722

1,083,376

1,532,015

49,825

201 fet2E |

Mo A

10,647
2,662
2,662
5,323

429

01 At

(=]
OZ2Y L=325HI(3750H~)

10,647,000&

U AT

10,647

10,647
2,662
2,662
5,323

429

301 LEIEN =

Mo A

180,893
30,230
30,230

120,433

138,897

41,996

01 At3l

]
OZ22¢g &= XA (375 A)

180,893,000&

HH A

180,893

180,893
30,230
30,230

120,433

138,897

41,996

307 21201 &

HH A

1,390,300
167,850
264,830
957,620

1,382,900

7,400

Sy N

OZ2Y YWYH| XK (37500 A)

531,900,000&

Mo

186,600, 000&

Mo

(375004 )
596,800,000

HH A

75,000,000&

HoH W
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71,790
460,110
186,600
25,190
161,410

596,800
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18,650
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37,700

1,382,900

7,400

210,265

246,400

N 36,135
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2N FUSTA
HHM: L0 Y AW ZNSH(MSZX/ Q- HAH)
& SASXAENE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 20,000
Ogl HsZ2Y HYZBLHEALE &X &
HE = 20,000,000& 20,000
< 20,000
Ogtd 2BIZY AIEIE=+ 20,000,000& 20,000
< 20,000
OZEO0oH ME3ZE AIZIiE=+  5,000,000& 5,000
S 5,000
Oz=2Y nNEIZY AEIHME= 15,000,000& 15,000
< 15,000
22g M= 70,000 182,000 A 112,000
402 RIZFX20l A 70,000 182,000 A 112,000
01 U2 E2AILE X (KA 70,000 182,000 A 112,000
O gtiJId2E A= 70,000,000& 70,000
Lolg AHNoE=UE XA 6,500 6,500 0
307 21201 A 6,500 6,500 0
11T M3 SRASEEX 6,500 6,500 0
OL23Xa&EI HOE=2US 4,500,000& 4,500
OEXALI AoIEEWE 1,000, 000& 1,000
Ogeal &Il HolEESUs 1,000, 000& 1,000
colE=2d 16,000 16,000 0
307 21201 A 16,000 16,000 0
11T ALSI S RAEE = 16,000 16,000 0
okroltisrz4d 16,000, 000& 16,000
o322 71,219 70,643 576
201 ¢er24l 1,168 1,168 0
01 At 2t 2|l 448 448 0
Owolsl 29 A2EX OhAY)
8,000& »2H »28 448
02 =224l 720 720 0
O3 SEZXS MRPH AYALE SSHEFY
A =22 720,000& 720
307 120l & 70,051 69,475 576
03 BIAHMHE2IHIEL 63,535 63,535 0
Okl 8EZXS ARIE 24|
2,100,000& x12& 25,200
Okols 8= AR=2Z NS
2,100,000& 2,100
Okols 8= AMRIZE AHEE=
2,434,320 2,435
OLolsl AIR4A 2el23] 24,800,000& 24,800
OogEzXa s¥HEs 294l
1,000,000 «9H S ™ 9,000
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Hu: Lo U HAY SXNEH(MIEX/C0 - BAA)
Sl L ol= X ALK R (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 6,516 5,940 576
O+4Loly 24 Y 300,0002! *2% 600
O&X, 52, -A=XII0K ALE 2
100,000& »9H 900
OkQlsl g 2l 3,016,000 3,016
Ookels =42 M= 2,000 *500% *23] 2,000
LolMetAld XI& 2,689,018 2,259,581 429,437
< 1,340,495
e 1,348,523
301 LEEAS 2,663,228 2,232,108 431,120
< 1,331,614
e 1,331,614
01 MEIBEE 2053 2,663,228 2,232,108 431,120
OLQIMEANL HIQUYLEI(13HL)
2,663,228,000& 2,663,228
< 1,331,614
[ia 1,331,614
307 glz2+ol & 25,790 27,473 A1,683
= 8,881
e 16,909
10 ALSISXAIEEE2EH EX 9,480 11,520 A 2,040
OLQAZAE SAX SE2E(10F)
9,480,000& 9,480
= 3,792
[ 5,688
11T MISRASEX 16,310 15,953 357
Loz AL SEZ A (40Y)
15,330, 000& 15,330
< 4,599
[ia 10,731
OLQgZ AL 2 L EHRAHI(43E)
980,000 980
< 490
[ia 490
MHotEII2/2 XA 1,209,882 857,765 352,117
< 241,977
e 967,905
301 LEBEAS 1,137,869 785,285 352,584
< 227,574
e 910,295
01 MEIBZE 2053 1,137,869 785,285 352,584
OMIEQSTAE HIQY 23 (525%)
1,137,869, 000& 1,137,869
< 227,574
e 910,295
307 Q12+0| & 72,013 72,480 N4BT
< 14,403
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Sl L ol= X ALK R (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
o 57,610
10 MM SAANEEHESIGHEX 72,013 72,480 NAB7
OMIt=EXAE 2L (10HA)
72,013,000 72,013
& 14,403
= 57,610
LOEXAIE2Y 880 880 0
201 LBt ]| 320 320 0
01 AP 22| H| 320 320 0
OLQEXAAE 2K 0§ & H|
8,000 x2H 20 320
202 04| 560 560 0
01 2L I 560 560 0
OLQ=EEXAAE XN EH |
20,000 2H x7L 280
OLoEXAALE 23 W 2 I35 24 |
70,000 *43] 280
Lolg XEAY 1,500 1,500 0
307 212t0| & 1,500 1,500 0]
11 A EXAIEEX 1,500 1,500 0
OANT Lol XA 1,500,000 1,500
A2 A2d220]F AH 44,000 36,000 8,000
402 SI2FXHE0| M 44,000 36,000 8,000
01 SI2ZEXIEANSEXR (M) 44,000 36,000 8,000
OZ3=2& A22eJ7 X 500,000 80 A 40,000
OZz & A22eJ7 =2l 400,000 104 A 4,000
StHAIX gt2stn 84 12,000 12,000 0
307 212t0| & 12,000 12,000 0
05 QIZ2t &2 12,000 12,000 0
Os®EAX &t2stn &9 12,000,000 12,000
SIS 29 445,601 445,601 0
307 2iz2to| A 445,601 445,601 0
05 QIZ2tREF 2 445,601 445,601 0
oggalsg=la(o=21a)29|
421,601,000 421,601
OHAXSE=SXN2 HIIL2
2,000,000& 1201 & 24,000
dze 249 N 61,000 89,000 A 28,000
402 BI2H X 20| M 61,000 89,000 A 28,000
01 SIZEXIEANSEXR (MMM A) 61,000 89,000 A 28,000
O3=z% de) X 1,000,000 *21JH 2~ 21,000
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OZ=2E H3 X 800,000 x500H A~ 40,000
A2 G Y YEAIE EXXSE 15,000 45,000 A 30,000
& 4,500
= 10,500
401 AlEHIZL 2 0HY| 15,000 45,000 A 30,000
& 4,500
= 10,500
01 Al& B 15,000 45,000 A 30,000
OZd=2Y B ™AL XX
7,500,000 #2204 A~ 15,000
= 4,500
= 10,500
AU (=0 )gt &t 29 4,000 4,000 0
& 1,200
= 2,800
307 2iz2to| A 4,000 4,000 0
& 1,200
= 2,800
11T AISIEXAIEEX 4,000 4,000 0
OAMUO (ol )stac 2 (11 A)
4,000,000& 4,000
& 1,200
= 2,800
SEINEE=SXND 2 (2XAY) 33,140 33,140 0
< 13,256
= 19,884
307 2iz2to| A 33,140 33, 140 0
o=t 13,256
= 19,884
05 QIZ2tE 2 33,140 33, 140 0
OSEZLoF=XN& SAL S8€H
70,0003 *7Hx 1201 & 5,880
& 2,352
= 3,528
OeHEIL2EX& T )HXIAY
27,260,000 27,260
& 10,904
= 16,356
A2y BAE MY (2EAY) 33,379 33,379 0
< 5,350
= 28,029
307 2iz2to| A 33,379 33,379 0
& 5,350
= 28,029
11T AISIEXAIEEX 33,379 33,379 0
OZ=2E =g|lmaz 22X oA
33,379,000 33,379
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SN ERI=XA
FH: Lo 2 HAd SNST(ASSX /=0 - HaH)
& SASXAENE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 5,350
s 28,029
LZAE 2EH X 617,873 607,126 10,747
= 432,511
< 55,609
s 129,753
307 glz2tol & 617,873 607,126 10,747
= 432,511
< 55,609
s 129,753
10 AL SXAIEEE2EH EX 617,873 607,126 10,747
OkLolx2Ald 2HHI(10Ha) 617,873,000 617,873
= 432,511
< 55,609
[ia 129,753
ANz =ols 243 X2 36,771 29,159 7,612
< 11,032
e 25,739
307 21201 A 36,771 29,159 7,612
< 11,032
e 25,739
03 QIAHMNHE2IHIEE 36,771 29,159 7,612
OAlZ olg g4dst X 36,771,000 36,771
< 11,032
s 25,739
ZZ2Y S I AALS 18,750 0 18,750
402 RI2HXt20l ™ 18,750 0 18,750
01 212t 2 AL B (RERTH ) 18,750 0 18,750
OZ=2LSeMUlAALS 50,000 *375H 2 18,750
Has sHE2 K& 34,635,038 30,857,852 3,777,186
= 30,338,671
S 891,899
s 3,404,468
F2AY 254 X3 177,600 166,758 10,842
= 81,600
s 96,000
307 gl2+tol & 177,600 166,758 10,842
2 81,600
s 96,000
11T M SRAISE EX 177,600 166,758 10,842
OARAY 2234 XA (THL)
177,600, 000& 177,600
= 81,600
s 96,000
HESH M=ol MY X 2 50,800 31,115 19,685
= 12,700
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01 A28 H =62 31,722,726 29,014,849 2,707,877
OJl=¢ia X& 31,722,726,000& 31,722,726

28,550,453
634,455
2,537,818

HH A

SEHLUHLBEE X ALY 94,800 57,000 37,800

301 LEIEN = 94,800 57,000 37,800

01 AR 2&H =53 94,800 57,000 37,800

OLQII? ALBHE ¥ LONIIQRY BHE

A& 7,900,000 128 94,800

SHLOUZEZZOO STUHANEA 2N 250,792 265,511 14,719
125,398
36,604
88,790

MW

307 2I2+0 & 250,792 265,511 14,719
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36,604
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S
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oy

250,792 265,511 A14,719

O
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oy

2|2 21AHI(8Y)

1,795,500 x8F x 128 172,368
86,184
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18,099,000& 18,099
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2N FUSTA
HH: Lol Y HAE SNEH(AMS=X/ Q- HAE)
S HAS SH=0 XY CERED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
== 2,130
s 5,052
OXBISXE=24I(1,495CH) 42,361,000& 42,361
= 21,182
= 6,214
= 14,965
OJ1&J122 3l 3,600,000& 3,600
= 1,800
< 559
s 1,241
Atcll2tel &2 A 62,500 52,900 9,600
201 £B-2dH| 480 480 0
01 At 22/l 480 480 0
OAtell Z2tel XA =X oAbl
8,000& »2H +30 480
202 Odl 820 820 0
01 = LH YI 820 820 0
OAtdl 2tel MEXH HRF=& ol
20,000& x2H » 103 400
OAtd 2tel MEXAH Ndns 2 f3s 4
70,000& x2H 33| 420
307 Qiz2tol & 61,200 51,600 9,600
05 BIZERI & 3 61,200 51,600 9,600
OMblAZel It & 22 At WEHI(51Y)
100,000& x51H 128 61,200
e =9 & 249X 3,600 3,600 0
307 21201 A 3,600 3,600 0
1A S XA E X 3,600 3,600 0
Ogs d=9 & 29| 100,000& »3& 1228 3,600
ASOIEY(IoT)EE SHEQ A2orA 22Ul A 4,920 0 4,920
At
< 1,476
o 3,444
307 21201 A 4,920 0 4,920
< 1,476
o 3,444
11 AISI S XA E X 4,920 0 4,920
OAMEHU(ITEE SHLQ A2 otd &
A HA 4,920,000& 4,920
< 1,476
= 3,444
DSAXNZOIE sSSUa o2 A1 0] 8,400 0 8,400
< 3,360
i 5,040
301 LEPEXF 8,400 0 8,400
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2N FUSTA
Hu: Lo U HAY SXNEH(MIEX/C0 - BAA)
ool HAS SAHL-o X EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 3,360
s 5,040
01 MEI2BZE+06l= 8,400 0 8,400
OLN=SAMXZ0IY SSUY 2L ALY
20,0003 35 =121 = 8,400
< 3,360
i 5,040
Lo EEsAMHA 2,258,900 0 2,258,900
= 1,581,220
= 203,304
s 474,376
307 g1+l & 2,258,900 0 2,258,900
= 1,581,220
< 203,304
fia 474,376
05 RIZtE = 2,258,900 0 2,258,900
OkeolstEssMElIA 2148l 2,101,940,000& 2,101,940
= 1,471,353
< 189,176
[ia 441,411
OLQdES=S A A AHHHI 156,960, 000& 156,960
= 109,867
< 14,128
e 32,965
HEXA 64,344 22,344 42,000
< 11,700
s 52,644
28 & ¥&¥d=s N 25,344 22,344 3,000
201 €2l 1,454 1,454 0
01 At 22l 1,454 1,454 0
OFAHS =2 A 8,000& x2H x 142! 224
OS8EX ¢ &9 H& 70,000 *9H 630
O=S8EX = g2 &X € B
600,000 =14 600
202 04 tl 490 490 0
01 = LH 4 1 490 490 0
OE8IZX XN& &= odl 20,0003 «2H +7 280
OFMYS 2B 0T L 23 & Ol
70,000& *33] 210
206 M= Hl 8,400 8,400 0
01 =4l 8,400 8,400 0
OZdss P4 420,000 »20H 8,400
301 LA F 15,000 12,000 3,000
01 MEIBEE 263 15,000 12,000 3,000
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OFAHERZ ALY 1,776,000 1,776
= 1,422
< 177
[ia 177
SIRRIIESXAILE OIS MEIA XA 23,048 0 23,048
= 16,134
< 2,074
[ia 4,840
307 21201 A 23,048 0 23,048
= 16,134
< 2,074
e 4,840
11T MISAASEX 23,048 0 23,048
OstREZIIE=SXAE Ol0ISsSAHEA XA
23,048,000& 23,048
= 16,134
= 2,074
= 4,840
SIR2RIIE EXAE JIsEBA(ZHEX) 20,000 0 20,000
< 20,000
401 Al BHIZ 201 8] 20,000 0 20,000
< 20,000
01 A& HI 20,000 0 20,000
OstR2IE EXAE JIs2Z 20,000,000 20,000
< 20,000
22AHS XN 23,400 23,400 0
ALAAHE 2EEHFI X 8,400 8,400 0
307 21201 A 8,400 8,400 0
05 RIZt2IEt = 8,400 8,400 0
OAQAHE 2FE DI 40,000& 2107t = 8,400
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SH FUSTA
HM: BRIE, HE=SIST(MI=EX/ES - HELHA)
& AAS K& (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A HSELEHEAIH X2 15,000 15,000 0
307 gl2tol & 15,000 15,000 0
05 BIZHRI & 3 15,000 15,000 0
OAANHE REHE GAFII 15,000, 000& 15,000
Ch2sitsd8sd 1,022,649 811,393 211,256
= 460,252
< 139,441
i 422,956
AZ0HE & USIEXNJAEH2E 292,400 147,500 144,900
= 146,200
< 43,860
i 102,340
307 glz2tol & 292,400 147,500 144,900
= 146,200
S 43,860
s 102,340
05 RIZHRI & 3 292,400 147,500 144,900
OALNY L UGRNSNAME 29
292,400,000 292,400
= 146,200
< 43,860
s 102,340
Ct2sthtd X3 156,480 154,440 2,040
201 €24l 760 760 0
01 At 22l 760 760 0
OU=aItd FR=A S22 X HAH
8,000& x2H =102 160
OU=23ItE XA 82 U2 M
2,000 3004 600
202 Odl 2,820 2,820 0
01 = LH 4 Hi 2,820 2,820 0
OUIsItE XNJAY g2 =& ¢l
20,0003 x2H 18 720
OC23otd &AL o1& (bl 70,000 x63| 420
OUZIsItE XNEAY S2dus F4 0l
70,0003 »2H » 123 1,680
301 LEEBA S 1,800 1,800 0
09 HALAMHIXI &3 1,800 1,800 0
Ot=23td ASdA S 4 04l
50,0003 x9H 43| 1,800
307 glz2+ol & 151,100 149,060 2,040
05 RIZt2E = 6,000 3,960 2,040
OALIE & U2 EXNJAME 24H X
500,000& »12& 6,000
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SN EoI=XA
=
4

HE: BRIIE, QHZXNSA(AMSZX/2S - HEL0A)
e URssAHE=H (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
11T A EXAIEEX 145,100 145,100 0
OUERIIIE 2223 &t
2,500,000 *2J 5,000
OU=23ItE stots A 12,000,000 12,000
OLUR3IE 20 ZDR(EHAA)
48,000,000 48,000
ORI 232 EE 10,800,000& 10,800
OEd! Y2 10,000,000 10,000
OX -4 -H 4= 15,000,000& 15,000
o3t Z& 17,000,000 17,000
OSAE LG L HR2MA 20,000,000 20,000
OCHO YY), 2(HAHA), 2(BEHY) UsD|
7,300,000 7,300
ool X 263,630 210,222 53,408
= 184,541
o= 39,545
= 39,544
307 QI2t0| & 263,630 210,222 53,408
= 184,541
& 39,545
= 39,544
05 QIZtR &S 263,630 210,222 53,408
QO0ISEXA(1HA) 263,630, 000& 263,630
= 184,541
& 39,545
= 39,544
MEHEs & ANHEHMES 2SS MHHAXH 147,366 110,196 37,170
= 73,683
= 22,105
= 51,578
307 2iz2to| A 147,366 110,196 37,170
= 73,683
& 22,105
= 51,578
05 QIZtR E 2 147,366 110,196 37,170
OXNEFYE & IHEHME S 2N AEA X
< 147,366,000 147,366
= 73,683
= 22,105
= 51,578
2200 X SHAAMHA XA 27,509 26,760 749
= 13,755
& 4,126
= 9,628
307 2Iz2to| A 27,509 26,760 749
= 13,755
& 4,126
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2N FUSTA
Hz: BERIIE, d=2XST(AMI=EX/ES - ISLHA)
e URssAHE=H (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 9,628
05 QIZtR E 2 27,509 26,760 749
OZE0|CX SHAAH A XK 27,509,000 27,509
= 13,755
o= 4,126
= 9,628
CIE2sJtEs Ao e X 32,820 30,650 2,170
= 16,410
=} 4,923
= 11,487
307 QI2t0| ™ 32,820 30,650 2,170
= 16,410
= 4,923
= 11,487
05 QIZtREZ 32,820 30,650 2,170
OUESIE AEdeY XI& 32,820,000 32,820
= 16,410
& 4,923
= 11,487
Ol JIEEtE ZEAMY 28,325 26,850 1,475
= 14,163
&< 4,248
= 9,914
307 2iz2to| & 28,325 26,850 1,475
= 14,163
= 4,248
= 9,914
05 QIZ2tRE 2 28,325 26,850 1,475
O0l&s8A0N IS ZLHAY 28,325,000 28,325
= 14,163
o=} 4,248
= 9,914
St=0HuURy 29 20,009 22,163 N2,154
= 10,005
& 3,001
= 7,003
307 QI2t0| & 20,009 22,163 N2,154
= 10,005
= 3,001
= 7,003
05 QIZtREZ 20,009 22,163 N2,154
Oost=0ns 28949 20,009,000 20,009
= 10,005
& 3,001
= 7,003
Z2E2012X =28 FHsSHE A 3,300 2,400 900
= 990
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2N FUSTA
HE: BRIIE, QHZXNSA(AMSZX/2S - HEL0A)
e URssAHE=H (e H)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 2,310
301 et A= 3,300 2,400 900
&< 990
= 2,310
01 Al B & A 462 3,300 2,400 900
OZ&012X 2&HFSH S NE 3,300,000& 3,300
o= 990
= 2,310
Z2E0QUX 220 AR HE XA 22,500 22,500 0
=} 6,750
= 15,750
307 QI2t0| ™ 22,500 22,500 0
& 6,750
= 15,750
10 A SXNANEEHESIHEX 22,500 22,500 0
OZE0I2X 220f 4L WS K&
22,500,000 22,500
< 6,750
= 15,750
A2 L U2 IIEXNKFHE SAHA EE2E 9,240 7,560 1,680
= 4,620
= 4,620
307 QI2t0| ™ 9,240 7,560 1,680
& 4,620
= 4,620
10 A SXNANEEHESIGHEX 9,240 7,560 1,680
OALNY L U2ANSNALEH SAX S8
=& 9,240,000& 9,240
=} 4,620
= 4,620
0ol Helold Ct230lal s 89 3,600 3,600 0
& 1,080
= 2,520
307 giztol A 3,600 3,600 0
& 1,080
= 2,520
05 QIZtRES 3,600 3,600 0
O0IJl= ol C2s0lol s 29
3,600,000& 3,600
= 1,080
= 2,520
25010004 AR2ER20] 29 6,480 6,552 NT2
= 1,944
= 4,536
307 giztol & 6,480 6,552 NT2
& 1,944
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2N FUSTA
HH: R ZHEEH(AISX/IZHELE)
S HASSMBOIIE EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ORI =MEEZSZ X HeHFHSH(56E)
60,297,000 60,297
= 48,237
< 6,030
i 6,030
NASHS NEXE 20,100 20,000 100
301 EEMZ 20,100 20,000 100
01 Ml2ZE 06z 20,100 20,000 100
ONMASAHS T oty F2YH X
150,000& 54 H 8,100
OMASEAE A ==L XA
150,000& *80H 12,000
SN SSZA =8 10,684 10,684 0
SXNHAT ZAH X 10,684 10,684 0
201 Let24d] 4,864 4,864 0
01 At 22l 4,600 4,600 0
OSXNHAXR SEEZA 2FX AL
8,000 x4 x50 1,600
O=XANEA SELR XE cl3S3 ME
1,000& *3, 0004 3,000
02 =24l 264 264 0
O=XNUHAX SEN 285228 223
330 *800A 264
202 44l 5,820 5,820 0
01 SLHOIYI 5,820 5,820 0
OSXHAR MRAMER ZAF F=EWH|
20,000 »4%H 202! 1,600
OSXIHA R Ol MB R KA =&MU
20,000 x4 62 480
OSXHaT 8 & BHEHF MEL ZA
20,000 »4H 102! 800
OSEZAL 28 s FH(5Y)
70,000 x6H *7 3] 2,940
FAHSXNASXN S (M SK/FHLAHSX ) 627,341 431,191 196, 150
= 285,457
=3 64,447
[ 277,437
HAANS=2X XA 627,341 431,191 196, 150
= 285,457
< 64,447
e 277,437
HHAR0I 22 30,080 32,580 A2,500
201 L4l 560 560 0
01 At 22l 560 560 0
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A

2N

[aF =)
o=

= NE
HE: HANSNARNSH (MBISX/HAHNETR)
Sl HorME= X K (ol @)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OO0 EEEHIE M=
70,000 *8JH A~ 560
202 04| 720 720 0
01 2L I 720 720 0
O3 2019020 ZHCIHe &A
0,000 x6H 420
Oddd& 0l /2 S =80
20,000& 15 300
301 LBt A= 28,800 31,300 A 2,500
01 Al E & A 452 28,800 31,300 A 2,500
O&, =&4HE EXANE & HHd2 0|2 |2
24,0002 600 *23| 28,800
OlFHEl At S K& 12,350 11,850 500
201 et 1,140 640 500
01 AFR 2t 2| bl 660 160 500
ORHAD AF2X & SHOAHHE2l =& 0HA Y
8,000& x2H 10 160
OMl7ts 23 M= ME 10,000 x50 500
02 Z2=2=24%4| 480 480 0
OMol RS =X AlAE SI| AIE2S
40,000 1200 & 480
202 04| 460 460 0
01 2L HI 460 460 0
2 L HHK, AIZYX S Helodl
20,000 2«8 320
OMdl2s NESEA (| 70,000 x2H 140
302 Ol =L Mol E &2 4,500 4,500 0
02 Q2o THOHL ERESE M= 4,500 4,500 0
OM{aHOIMHEl Ao XI=Hl £ SF0OH 500,000 500
OMolLMAl 22 & Mlrs=23 ANA
500,000 x8J}F ¢ 4,000
307 2Iz2t0| & 6,250 6,250 0
01 s 2=l 6,250 6,250 0
Odliei Xt L AIE S H| 40,000 »20H 800
OdA X T2 50,000& «5H 250
ORHADAIUR} 2202
500,000 *2H Ab*2AH 2,000
Ostied AP AH & HIHI 1,100,000 x2H 2,200
Osied I HE Y| 20,000& »20H 400
OSHAAXUX FotA A2 2 50,000 6L «23] 600
JEAZ(ZCHI IH2AMY 24 30,000 27,080 2,920
== 6,000
= 24,000




2N FUSTA
HE: HANSNARNSH (MBISX/HAHNETR)
Sl FHONSE X CERED
(o
S - BB () - HEAY - BES Ol At o %@ﬁ HRE2
307 2Iz2to| & 30,000 27,080 2,920
== 6,000
= 24,000
11T A EXAIEEX 30,000 27,080 2,920
OJIBAEZ(ZCYWIA)MBAIY =24
30,000,000 30,000
&< 6,000
= 24,000
PaAE=2—-D\DNE= 158,463 166, 189 NT,726
= 126,770
== 9,508
= 22,185
301 et A= 158,463 166, 189 NT,726
= 126,770
= 9,508
= 22,185
01 AISIE & A 462 158,463 166, 189 NT,726
O2Z2EX X (208Y) 158,463,000 158,463
= 126,770
= 9,508
= 22,185
A=2=XNKNE A2 1,250 1,250 0
201 2Et24Hy| 660 660 0
01 AP 22| d| 660 660 0
O 2= XA ALY SRF=E 04AH|
8,000 x2H x15L 240
O®IJIItE &=2 &8 H& 70,000 =6 A 420
202 044l 590 590 0
01 2L Y| 590 590 0
O2Z=EXNNNE d2F=& oyl
20,000 x2H 6 240
O2z=X sX&Ed & nsEAAY
70,000& »5H 350
S ANH A FRAH 24 1,320 1,320 0
201 et 760 760 0
01 AP 2t 2] H| 760 760 0
OXg9=3 22 AHEA 29 Ayl
8,000 »22 %30 480
OXNgXa g=2 & 2 3408 70,0008 x43] 280
202 044l 560 560 0
1 =2 Wl 560 560 0
OX<29=3 ANaHe & AA =& o4l
20,000& =28 560
SH =2X5EsAIY K& 20,118 23,318 N 3,200
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A

2N

[aF =)
o=

= NE
HE: HANSNARNSH (MBISX/HAHNETR)
Sl FHONSE X (S &2)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
201 Bt 4,000 4,000 0
01 AP 22| H| 4,000 4,000 0
OX0IIE BANAMEA EE22 HE
10,0002 *400H4 4,000
202 o4 H| 1,430 1,430 0
01 2Ll 1,430 1,430 0
OX0IItE EXNAMHA DE &2A
70,000 *3H *33] 630
OS89 Z0Jte SXNMHIA S2F=& 4]
20,0008 22 20 800
301 et M3 14,688 14,688 0
09 HAIAHI X & 2 14,688 14,688 0
O8Y NEMIIBEHEAM 24
10,000 153 x12& *80% 14,688
S08s UFE SEMHA XS 75,600 75,600 0
= 52,920
o=} 4,536
= 18,144
201 et 9| 37,800 37,800 0
= 26,460
o= 2,268
= 9,072
01 AFR 2t 2| bl 28,300 30,770 A2,470
OAtdl &2l Al 22| 28,300
—AEE ABHH (400 A) 1,500,000 404 &~ 6,000
= 4,200
= 360
= 1,440
-JI2E(8ES) 2,700,000 100 & 2,700
= 1,890
& 162
= 648
A9y A (&80 std LhatH 20FH
) 4,900,000 *4 4 19,600
= 13,720
& 1,176
= 4,704
02 Z2=2=2494| 9,500 7,030 2,470
OCtEXIZ0|I (AGIERX) E48I2 2,700
-JI2E(8ES) 15,000 *3CH = 12& 540
= 378
& 33
= 129
A9y A (&80 std LatH 20FH
) 15,000 «3CH x40 A~ «12&! 2,160
= 1,512
& 130
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[u] A

2N

=
=

FoU=SX2
A HAASNIA=SNS A (AR /HLAHASTH)
Sl HANS=NAL (sl &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
o 518
Oxg=2dgHl 6,800
2 (3EsS-8IIx) 960,000 960
= 672
< 57
s 231
-HAE SAHUH(ESY S LAH 2o
-Jt&8RL) 5,840,000 5,840
= 4,088
= 350
s 1,402
301 LEHZ 37,800 37,800 0
= 26,460
< 2,268
s 9,072
01 A3l EE & 56l = 37,800 37,800 0
OArdl 22l AbE AP Bl 37,800
-HAE LB (400 L) 1,500, 000& *4JH 2~ 6,000
= 4,200
S 360
i 1,440
-HEE SHUH(ESY S LA 20
) 6,900,000& *4JH 2~ 27,600
= 19,320
< 1,656
fia 6,624
JI2E(BES) 4,200,000 *1JH 4 4,200
= 2,940
< 252
[ia 1,008
SE At 2l At 218l K& 65,129 63,384 1,745
= 32,565
< 6,513
s 26,051
101 1A dl 65,129 63,384 1,745
= 32,565
< 6,513
e 26,051
03 RIAHAZ2HE = 65,129 63,384 1,745
OSg At el Ab 21 24| 29,408,500& »2H 58,817
= 29,409
< 5,882
s 23,526
OS&E At ZelAF S22 08l
10,0003 «2H *x 12 123 2,880
- 1,440
< 288
s 1,152
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[u] A

2N

=
=

FO=2XA
B HAHENASNEH(MSISX/HAHNET )
e FHAHSEXNKXNH
- _ _ RE]
SN ED B (3H) - MEAY - BAS ol &k o8 %Eﬁ
OSE A Z2IAF AIZ2E2 224Y
14,300 »2H x10A| 2tx12& 3,432
= 1,716
o=t 343
= 1,373
A2 SetAd 22l K& 15,000 15,000
= 7,500
o 2,250
= 5,250
101 Q124 H] 420 420
= 210
o= 63
= 147
03 RIAHEZZXHE = 420 420
OAtdl 22l AF o4 8I 70,000 *33| 2 H 420
= 210
= 63
= 147
201 et 10,080 10,080
= 5,040
= 1,512
= 3,528
01 AP 2t 2] H| 10,080 10,080
OAtdl &2l Al 22| 10,080,000& 10,080
= 5,040
& 1,512
= 3,528
301 et A= 4,500 4,500
= 2,250
== 675
= 1,575
01 AR E & A 462 4,500 4,500
OAtdl 22l Al A HI 500,000 x93 4,500
= 2,250
=} 675
= 1,575
SSA 22l AIE XIS 13,620 13,620
201 LBt Y| 1,340 1,340
01 AP 22| d| 1,340 1,340
OSE At 22l AL =& DA H]
8,000 x2H x30! 480
OEetAdl 22 AIHHIE &9 A2 ZH|
60,000& *23| 120
OEetAtdi2te] s 2AF =% 150,000 *23] 300
Os2HAE S92 M 70,000 «23] 140
OFH/AdE 29 A2 EH| 50,000& *63] 300
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2N

HE: HANSKNASNSH (AMS=X/HAHEN)
Sl HAHSSHXAE EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
202 Od4dl 1,280 1,280 0
01 = LH 4 Hl 1,280 1,280 0
OSE At Zeltiax g¢= & S24EWHI
20,0003 »4H 13 1,040
OSe At 2el &AL ¥ us 4
60,0003 x4H 240
206 M= Hl 11,000 11,000 0
01 M= 4l 11,000 11,000 0
OMASE &=L XJAY 200,000 *40It 7 8,000
OH2AMa d=5lis &8 XA
100,000 *302t 7 3,000
felsdl HZAL SEXJIsH 22H XA 45,000 0 45,000
< 22,500
e 22,500
301 LPEXZ 45,000 0 45,000
= 22,500
i 22,500
01 MEIBZE 06z 45,000 0 45,000
OMeE=sHiHA ME (2t . B2
45,000,000& 45,000
< 22,500
e 22,500
MASE 0IMEX 0tAT ESAMY 131,404 0 131,404
= 65,702
< 13,140
s 52,562
201 Zet24E] 131,404 0 131,404
= 65,702
< 13,140
s 52,562
01 At 2t 2l 131,404 0 131,404
ONMASEE 0IMYX OtA3 E= ALY (2,6379)
131,404,000& 131,404
= 65,702
< 13,140
e 52,562
SE A2l AL A AHH X2 (XA 16,007 0 16,007
101 @144 Hl 16,007 0 16,007
03 RIAHAZ 2T E =+ 16,007 0 16,007
OSE At 22l At el 4l XI& 16,007 ,000& 16,007
IRAZHSAG(ZEWT) MM X 12,000 0 12,000
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1,795,310& 128 21,544
= 10,772
[ia 10,772
OXESA W=EIACIUOIH 4UEE =S
2,115,600 2,116
= 1,058
s 1,058
OXESAF HLDCIUOIEH D=3
1,795,310& 128 21,544
= 10,772
s 10,772
OX2s8Ar BADCIUIOIE 4028 =
2,115,600 2,116
= 1,058
s 1,058
OXESAH ZOUIOIH SXNEE
500,000& »x2H 1,000
= 500
s 500
— 80 —




SN ERI=XA

Hi: NHESMUEH2S (LSS /YeAT)
S MHSAEEXE (=& J)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OXN&SAH RCIUOIH EEFOHHI
500,000& x2H x23| 2,000
= 1,000
s 1,000
OXN&ASAH 2CIUIOIE oAbl
130,000& x2H 123 3,120
= 1,560
s 1,560
OXEsSAH ZOUOIH EANES
2,323,000& »2H 4,646
= 2,323
= 2,323
HESAH 2OUHOH 28 XN& 26,841 3,400 23,441
101 @14 Hl 26,841 3,400 23,441
03 RIAHAZZAE S 26,841 3,400 23,441
OXNESAL ROUOIH RN, /38 s &
A A H| 50,000& x2Z 103 1,000
OXNASAH 2CIUIOIE &8I
10,0003« 10 x2H « 123 2,400
OX&SAL RCOIUIOIH e&1Adl, =Y &
23,441,000 23,441
d= S8 NSAEE It Mula XI& 4,070 4,442 A372
= 2,035
[ia 2,035
307 21201 A 4,070 4,442 A372
= 2,035
[ia 2,035
06 2= 4,070 4,442 A372
OXNESALAL SEEE Ity 4,070,000& 4,070
= 2,035
e 2,035
HYSZ I (FUSXA)(IIEH/IIE) 56,820 56,820 0
Jl=234l 56,820 56,820 0
Jl23Hl 56,820 56,820 0
201 £B-2%H| 19,920 19,920 0
01 At 22/l 19,920 19,920 0
O=N2Y Ler29| 50,0003 x30 x12& 18,000
Odlz, &X #5582 10,000& 165 128 1,920
202 oidl 28,800 28,800 0
01 =LHOIHI 28,800 28,800 0
OZg#s 43S J|=2Y2=70iy
80,0003 30«12 28,800
203 YR =] 8,100 8,100 0
01 I 22H R F=AH 3,300 3,300 0




2N FUSTA
H: HHE2HAHI(FLUSKA)(IIEHIIE)
chelr D123l (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OJa2g g2 275,000 128 3,300
04 NI FAH 4,800 4,800 0
ORA2Y 22F28 400,000& 123 4,800
HRasS(FUSXA)(MISX/IZHEEE) 679,409 653,849 25,560
HEAHHK = 679,409 653,849 25,560
AZSHELEINHN HE3 679,409 653,849 25,560
701 JIEISI HSHES 679,409 653,849 25,560
01 JIEtSIHE &S 679,409 653,849 25,560
OY=2=SHEEINH dE= 679,409,000 679,409
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